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DIM A AS INTEGER
END IF

IF IN(0) = O THEN

GOTO LAB1
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<% 3. Example

(1 Ladder Logic

DimAAs Integer
Dim B As Integer
A=0

Jump
Again: *
ForB=0to 10
Debug DECA CR
A=A+10 Loop
Mext
Goto Again

of a basic language (=Sequencial process)>

Ladder Logicll Jt& 2 SA2 2E 3=2It SAN S&ots ‘B Hel(Parallel) 24
Olet= ZHOICH <2 O 2.2F 20l ASIZ% Balg= ANMEXN S& IJtsst &Ei0IH,
A0l Z2HS0l HES 20l S0HLH =0l 243H22 TZ 13O Processs
st=0l = &= Ul EES A

(@ Basic Language
?12l Ladder Logicdt BHCHZ Basic Languagell Zd< & 31t 20| H B HFH
A2 AdE = ‘=Xd 2l (Sequencial) & 4! 0| CF.
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(» Comfile TechnologyAtel 228 JIE. (Core Module : CB280)
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<Jg 5. CB280>



4, A g8
CUBLOC-STUDIOE A=26t0 CHXEHH LEDE On/Offele E20eie AAE &M EH).
Const Device = CB280
Do
High 0
Delay 1000
Low O
Delay 1000
High 1
Delay 2000
Low 1
Delay 2000
Loop
* ZHEY
Const Device = [CIHIO|AH]
AAO O H 220 BIEA BEHF0OE ol HHEOZ CHIOIASE EXots HHAL.
Do [...] Loop
SO O U= FYE=2 HS Adols Bt A8 HF Y.
High [Port# &S]
EXd ZEE High 4tz otE= HHE Y
Low [PortH&]
EN EEE low &HIZ OE= HHL.
Delay [Al2}]
AMAIZIS KHAIH FTs= Hes £aish Al2t2 22lx=(ms) SHR0I0, HES0 delay
500 Ol2t &A4E AR T2 O ProcessES 500 ms(0.5 sec) KA.
a8 21
20l 0|52 ¥& 0ILIA(Ex : KIM(ZER))S Appendix.A0l HAIE =X 2A 255 &
235t0d, CUBLOC Study Board? LEDE On/Off MIOHE S22 N 9& 0ILIZQ| BtEXdEOZ =
S G| H StCH.
6. HI=Z& Zi=2
‘5. AE 2P OIg AA DE.
(AA DEE ixt Y2 0IHY Ao 8 2A)
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Appendix.A

International Morse Code

. The length of a dot is one unit.

. A dash is three units.

. The space between parts of the same letter is one unit.
. The space between letters is three units.

. The space between words is seven units.

NPl k2

A o mm Ue o mmm
Emmeeooe Veeoomm

Comm o mmme We mm mm

Domm e e X EmE o ¢ BN

E e Y mmm o NN EEE
Feoomme /NN Emu e e

G om mm e

Heoeoe

| @ @

] o mEE N

K mmm o mmm Iy B B N
L omm o @ PAEE B B
M om = Se o o HIE N

N o 490 000 mm

O m m . Seceeee
Ponm mme Ommeoee

Q mum mmm ¢ 1A B EENX)
Remme SEom mmm e @
Seeoe Onmm BEE BEE B ¢
T o Opn on N S N

Example : One unit = 300 ms

= Dot : 300 ms

= Dash : 900 ms

= Space 1(Between parts of same letter) : 300 ms
Space 2(Between letter) : 900 ms
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